@fenalt EREMIRIY

BERBABERL (reduced glutathione, GSH) iRFIE A
fHE5% 100T/96S

w OB ERIE AT 2-3 T ZE R B REA N A

MEREX :

GSH 241 A f 3 ZE PR SR, R B O RS R BRI s i s b A 2R
TR 5 A AL B L (GSH/GSSG) 24l AL IE ARSI L) A Fa b5 . Bk, WEA AN GSH Al GSSG
i PA& GSH/GSSG FUfE,  Re AR L Hh s Bt 4 it B 4k A 480 I8 JRARAS

e FRTE:
DTNB 5 GSH kM AERE &Y, £ 412nm A 5EAERU%, HROBE 5 GSH 2R IEH .

A& /MR-
GRS OHL K PRI AS . AT e/ BEAR X e B Lt m /96 FLA. ANZEIRK.

PR FILE R FNEC 1 -

R —: B 100mlix1 i, 4°CIRA7-
R A 18mlx1 i, 4°CIRAT .
WA= Wik Smix1 i, 4°CROGIRTE

HEESRIR AN :

1 g BALRE (g« WH— B (mL)N 1: 5~10 FEH] CEFREZ 0.1g 4L, A ImL
F—) BHATUKIBAIH . 8000g, 4°CEELr 10min, H_biE B vk B4R .

2. R, AR HERARSeE ot o WF AR (mL) A 500~1000: 1 BIECET CGEEIX 500 40
TN ImL AR —), KIGEE DA (33 300w, #8745 3 F, kG 7 #, BB 3min); A5
8000g, 4°C, B5.» 10min, H_EiEE T ok B4R,
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GSH JUE#AE:

1. 2P C BT/ B FRAX T 30min, TP F] 412 nm, FHIKHEE.

2. WA ZE T 25°C (— el s 37°C Gl /KB PRI 30min.

3. FAE: BUMEBE G ILEE 96 FLAR, MKUUIA 20uL 487K, 140pL R, 40uL 75 =, REIH
B 2min J5E 412 nm OGS Al.

4, PEE: BUMERBLEamo o6 LK, KK 20ul B35, 140ul 5 =, 40uL Ri=, REF
B 2min J5 I E 412 nm RIEREE A2,
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GSH EHEAR:

GSH #r#E 28 A0 y=1.5x (x N GSH ik, pmol /mL; y AMIEIE)
affFMER R AN KT EARNT

(1) #E AR

GSH (pmol/ mg prot) =(A2—Al) +1.5xV F+ (V FExCpr)  =0.667x(A2—Al) +Cpr
(2) AR

GSH (pmol/g #fH) =(A2— A1) =1.5xV FE+(V H=V FEEXW)=0.667x(A2— A1) =W
(3) 220 HcE T

GSH (pmol /10%cell) =(A2—Al) +1.5xV FE+(V F+V FEE x4 35)=0.667x(A2— A1) 4 3 &
(4) HRIAARFR 5

GSH (pmol/mL) =(A2—Al1) =1.5xV ¥tV Ff =0.667x(A2—Al)

VRS RMEAETR, 02mL: VRS BEBRSER, 1mL; VA IDARSE RS EERER,
20uL=0.02 mL; Cpr: LIiSWEAIKE, mg/mL; W: FEMi=

bAEF 96 FLARM EHITHEARMT

GSH #r#EIZE A0 y=0.75x (x N GSH ¥, pmol/mL; y NWRIG{ED

(1) EERETH

GSH (pmol/ mg prot) =(A2—Al)+0.75xV £+V $+Cpr =1.334x(A2—A1) +Cpr

(2) HErEABEE 5

GSH (pmol/g #fH) =(A2—A1) +0.75xV F=+(V F+V FEExW)=1.334x(A2—Al) W

(3) 14t 5

GSH (pmol /10%cell) =(A2—A1)+0.75xV F=(V FE+V FE S <1 % 5)=1.334x(A2— A1) ~AH i
(4 LA E

GSH (pmol/mL) =(A2—Al1) +0.75xV K E+V FE =1.334x(A2— A1)

VR REWAATE, ImL; V. IIARNAR R FEH AT, 20uL=0.02 mL; Cpr: biEwE A FK
B, mg/mL; W: HEmEE, ¢

SEEEN:
1. AN EEEARVIEN, i EERAGET T & AR ENE
2. EKHFR2Y 0.01Tmmol/L.
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